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h t

H

filt = [0.2 0.5 1 2 3 6 3 2 1 0.5 0.2 ] / 12;

delta = zeros(16384, 1);
delta(1) = 1;
ir = conv(delta, filt);
plot(ir([1:32]));

tf = fft(ir);
plot( fftshift(log(abs(tf))));

ptf = imag(log(tf));
plot(ptf);

Matlab code

n = randn(16384,1);
plot(n);
plot(n([1:400]));n t

nc = conv(n,filt);
wavwrite(nc, noisec.wav );
plot(nc);
plot(nc([1:400]));

F n t fn = fft(n);
plot( fftshift(log(abs(fn))));

fnc = fft(nc);
plot( fftshift(log(abs(fnc))));

on t
n t h t

F n t

load handel
yy = y([1:16384]);
plot(yy);
wavwrite(yy, halle.wav );

yn = yy + n*0.4;
plot(yn);
wavwrite(yn, hallen.wav );

y t

F y t

y t n t

yc = conv(yn,filt);
plot(yc);
wavwrite(yc, hallec.wav );

o t
y t n t
h t

fty = fft(yy);
plot( fftshift(log(abs(fty))));

ftyn = fft(yn);
plot( fftshift(log(abs(ftyn))));

ftyc = fft(yc);
plot( fftshift(log(abs(ftyc))));
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